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NEW QUESTION 1
Which mroute state is created when Bidirectional PIM is deployed at a site?

*
@®

MVPN Type-6
MVPN Type-7
S.G

o0 w>

Answer: A

NEW QUESTION 2
Refer to the exhibit.
HTE~-1
interface Vlanled
no shutdown
no ip redirects
ip address 10.16.165.2/27
ne ipve redirectas
harp version 2
harp 165
preempt
priority 150
ip 10.16.165.1

vpe domain 100

role priority 100

peer—-keepalive destination 10.1.1.2 source 10.1.1.1
vrf default

delay restore ol

peer-gateway
auto-recovery

ip arp synchronize

N7K-2
interface Vlanl&s
no shutdown
no ip redirects
ip address 10.16.165.3/27
no ipve redirects
hsrp version 2
harp 165
priority 50
ig 10.16.1653.1

vpe domain 100

role priority 200

peer-keepalive destination 10.1.1.1 source 10.1.1 2
wrf default

delay restore &0

peer-gateway

auto-recovery

ip arp synchronize

Which statement about the default gateway configuration of the vPC is true?

A. Either switch can act as the active default gateway.
B. N7K-1 acts as the default gateway for all traffic.

C. N7K-2 forwards traffic that is destined for the default gateway by using the peer link.

D. N7K-2 acts as the default gateway for all traffic.

Answer: A

NEW QUESTION 3
Refer to the exhibit.

Start time: Mon Rpr 15 09:23:01 2019

Last election time: Mon Apr 15 09:24:24 20195

h: UF, FPRIMARY

B: UP, SUBORDINATE

A: memb state UP, lead state PRIMARY, mgmt services state: UP

heartbeat =tate PRIMARY OK

INTERMAL METWORK INTERFACES:

ethl, UP

eth?, UP

HA MOT READY

No device connected to this Fabric Interconnect

B: memb state UP, lead state SUBORDINATE, mgmt services satate:

ug

What must be connected to clear the HA NOT READY status?
A. Layer 1-Layer 2 ports

B. server chassis

C. management ports

D. network uplinks

Answer: B
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NEW QUESTION 4
A small remote office is set to connect to the regional hub site via NSSA ASBR.
Which type of LSA is sent to the remote office OSPF area?

A. type 7 LSA
B. type 1 LSA
C. type 5 LSA
D. type 3LSA

Answer: A

NEW QUESTION 5
Refer to the exhibit.

NTKE-1
spanning-tree vlan 1-10 priority 8192

vpc domain 100

role pricrity 100

peer-keepalive destination 10.1.1.2 source 10.1.1.1
vri default

delay restore 60

peer-awitch

auto-recovery

ip arp synchreonize

NTKE-2
spanning-tree wvlan 1-10 priority B192

vpe domain 100

role priority 200

peer-keepalive destination 10.1.1.1 =curce 10.1.1.2
vrf default

delay restore &0

peer-switch

auto-recovery

ip arp synchronize

The STP priority of N7K-1 and N7K-2 are the lowest in the network. Which statement describes STP on the vPC?

A. N7K-1 and N7K-2 appear as a single STP root.
B. N7K-1 appears as the STP root.

C. N7K-1 preempts N7K-2 as the STP root.

D. N7K-2 appears as the STP root.

Answer: A

NEW QUESTION 6
Which configuration implements static ingress replication?

A. 5
interface nve 1
member vni 3716135
ingress-replication protocol bgp

B. interface nve 1
member vani 3716135
peer vtep 10.0.0.4

C. interface nve 1
member vni 37161335
peer vtep 10.0.0.4
ingress-replication protocol static
peer-ip 10.0.0.4

D. interface nve 1
member vni 3716135
ingress-replication protocol static
peer-ip 10.0.0.4

Answer: D

NEW QUESTION 7
Refer to the exhibit.

Passing Certification Exams Made Easy

visit - https://www.surepassexam.com



\-/ Exam Recommend!! Get the Full 350-601 dumps in VCE and PDF From SurePassExam
L' Sure PHSS https://www.surepassexam.com/350-601-exam-dumps.html (439 New Questions)

OTV-5itel# show otv

OTV Overlay Information

Site Identifier 0000.0000.0111
Overlay interface Overlay200

VPN name: Overlay200

VPN state: UP

Extended vlans: 178 2500-2563 (Total:65)
Join interface(s): Ethl/2 (20.1.1.1)
Site vlan: 1999 (up)

AED-Capable: Yes

Capability: Unicast-Only

Is Adjacency Server: Yes

Adjacency Server(s): 20.1.1.1/20.2.1.1

A network engineer is setting up a multihomed OTV network. The first site has been set up with a primary and secondary adjacency server.

Which configuration must be added on the remote OTV AEDs site? A.

interface Overlay200

otv join-interface Ethernetl/2

otv extend-vlan 178. 2500-2563

otv use-adjacency-server 20.1.1.1 unicast-only

B. interface Overlay200
otv join-interface Ethernetl/2
otv extend-vlan 178. 2500-2563

interface Overlay200

otv join-interface Ethernetl/2

otv extend-vlan 178. 2500-2563

otv use-adjacency-server 20.1.1.1 20.2.1.1 unicast-only

C.

D- interface Overlay200

otv join-interface Ethernet1/2
otv extend-vlan 178. 2500-2563
otv adjacency-server unicast-only

Answer: C

NEW QUESTION 8
Refer to the exhibit.

Nexus (config)# show checkpoint summary
Umer Checkpolint Summary

1} BeforeLi:

Created by admin

Created at Mon, 15:25:08 31 Dec 2018
Size is 9,345 bytes

Deacription: Hone

Syatem Checkpoint Summary
2) aystem-fm-vrrp:
Created by admin

Created at Fri, 09:57:02 14 Jun 2019
Bize i= 20,865 bytes
T"HH-:_.':'J]-I:.l-"qL: CreEatad i.'-'_lr Faaturae Hnrn—:r;r'r.

3) aystem-fm-hsrp engine:

Created by admin B

Created at Fri, 09:57:28 14 Jun 2019
Size 13 20,822 bytes

Deacription: Created by Feature Manager.

What is the reason the system-fm-vrrp checkpoint was created?

A. The VRRP process crashed and the checkpoint was automatically created.
B. The VRRP service restarted and the checkpoint was automatically created.
C. The network administrator manually created it.

D. The VRRP-enabled feature has been disabled.

Answer: D
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NEW QUESTION 9
What are two capabilities of the Cisco Network Assurance Engine? (Choose two.)

A. It validates that devices comply with network security policies.
B. It predicts the impact of changes to the network.

C. It predicts the network load on a data center.

D. It ensures that network performance meets an SLA.

E. It verifies the speed of network packet flows by using telemetry.

Answer: AB

NEW QUESTION 10
What is an advantage of streaming telemetry over SNMP?

A. on-change traps sent to a receiver

B. periodic push-based subscription messages
C. periodic polling of the device status

D. MD5-based authentication on polling

Answer: B

NEW QUESTION 10
Which method must a network engineer use to upgrade the BIOS firmware or a Cisco UCS standalone C-Series rack- mount server?

A. Use the U-ACPI Interface.

B. Use the Cisco host upgrade utility.

C. Use the Cisco hardware upgrade utility.
D. Use the Cisco host firmware policy.

Answer: B

NEW QUESTION 11
Which two settings must be configured before enabling a Cisco UCS Manager domain for Cisco Intersight connectivity? (Choose two.)

A. SMTP servers

B. SMTP reply-to address
C. NTP servers

D. syslog redirection

E. DNS servers

Answer: CE

NEW QUESTION 16
A network engineer is adding a Cisco HyperFlex data platform to the Cisco Intersight management portal.
Which two components are required for Intersight to claim the Cisco HyperFlex data platform? (Choose two.)

A. device FQDN

B. device claim code

C. device public IP address
D. device ID

E. device serial number

Answer: BD

NEW QUESTION 17
Where is the witness deployed in a two-node Cisco HyperFlex Edge deployment?

A. to the HyperFlex Edge two-node cluster

B. to Cisco Intersight

C. to a third-party cloud provider

D. to an additional server with network access to HyperFlex Edge

Answer: B

NEW QUESTION 22
Which two hypervisors does Cisco HyperFlex support? (Choose two.)

A. OpenStack

B. Citrix XenServer
C. VMware vSphere
D. RedHat KVM

E. Microsoft Hyper-V

Answer: CE
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NEW QUESTION 23
Which statement about the impact of a rolling EPLD upgrade on a Cisco MDS 9000 Series Switch is true?

A. The upgrade can be performed from the standby supervisor module.
B. Only the modules that are being upgraded are disrupted.

C. All modules on the switch are disrupted.

D. An EPLD upgrade is nondisruptive.

Answer: B

NEW QUESTION 26
Which two statements about the process of performing an EPLD upgrade on a Cisco MDS 9000 Series Switch are true? (Choose two.)

A. The upgrade can be performed from the standby supervisor module.

B. The upgrade process disrupts only the module that is being upgraded.

C. The active supervisor can be upgraded.

D. If an upgrade is interrupted, the upgrade continues after a connection is restored.
E. Modules must be online to be upgraded.

Answer: AB

NEW QUESTION 30
Which two statements about the process at upgrading an EPLD on a Cisco MDS 9000 Series Switch are correct? (Choose two.)

A. EPLDs can be upgraded only to the latest EPLD image.

B. EPLD upgrades can be completed without powering down the module during the upgrade.
C. An upgrade verification identifies the impact of each EPLD upgrade.

D. The EPLDs for all the modules on a switch must be upgraded at the same time.

E. EPLDs can be upgraded without replacing the hardware.

Answer: CE

NEW QUESTION 31

DRAG DROP

An engineer is configuring VNTag between a virtualized server and a Cisco Nexus 5500 Series switch. Drag and drop the configuration steps from the left into the
correct order on the right.

Select and Place:

Configure support for VNTag mode on the

interface that connects to the server. Sepd
Configure the vNICs of the server. Step 2
Configure the server to support NIV mode. Step 3
Enable the virtualization feature set. Step 4
Configure the port profile. Step 5
Install the virtualization feature set. Step 6

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Configure support for VNTag mode on the

; Install the virtualization feature set.
mterface that connects to the server.

Configure the vNICs of the server. Enable the virtualization feature set.

Configure the server to support NIV mode. Configure the port profile.

| Configure support for VNTag mode on the

Enable the virtualization feature set. ;
interface that connects 1o the server.

Configure the port profile. Configure the vNICs of the server.

Install the virtualization feature set. Configure the server to support NIV mode.
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NEW QUESTION 33
Refer to the exhibit.

A <o - Usibed Computing .. x [
Fie Edt Favores

View Took

Help

Create Backup Operation

Which backup operation type does not include the Preserve Identities feature?

A. full state

B. all configuration

C. logical configuration
D. system configuration

Answer: C

NEW QUESTION 35
Refer to the exhibit.

CISCO=UCS-A# =cope org /

CISCO-UCE-A Jforg* # create service-profile Ciscol inatance
CISCO=UC3=-A Jforg/aservice-profile® § aet bloa-policy biosl
CISCO-UCS-A forg/aervice-profile* § aet boot-policy bootl
CISCO-DC3-A Jorg/asrvice-prafile* § set ext-mgmt-ip-atate none
CISCO-UCS-A Jorg/asrvice-profile* # ast hoat-fw-policy ipmi-user9g]
CISCo-UCs=A forgfaervice-profile* # set identity dynamic-uuid derived
CISCO-UCS-A forg/aervice-profile* # set ipmi-access-profile ipmil
CISCO-UCS-A forg/aervice-profile® # aet local-diak-policy locall
CISCO-UCS-A Jforg/aervice-profile® # aet maint-policy maintl
CISCO-UCS-A forgfasrvice-profile®* § set mgmt-fw-policy mgmtl
CISCO-UCS-A Jorg/aervice-profile* # set power-control-policy powerl
CISCO=-UCS-A /org/fservice-profile®* # set ascrub-policy acrubl
CISCO-UC3-A Jorg/faervice-profile* ¥ set acl-policy =soll

CISCO-UCS-A Jorg/aprvice-profile* # =et atata-policy atatal
CISCO-UCS-A forg/aervice-profile® # 3et uséer-label Ciaco
CISCO-UC8-A Jforg/fasrvice-profile* §# veon-policy veonnpoliey
CISCO-UCS-A Jorg/aervice-profile* ¢ commit-buffer

CISCo=-UC8=-A /forg/service-profile §

What is a characteristic presented in the service profile of the UUID?

A. unique system generated
B. allocated from a UUID pool
C. vendor assigned

D. based on the hardware

Answer: B

NEW QUESTION 39
What is an advantage of NFS as compared to Fibre Channel?

A. NFS removes the impact of IP overhead.

B. NFS enables thin provisioning for LUNSs.

C. NFS provides direct access to the underlying storage hardware.
D. NFS provides the dynamic allocation of storage capacity.

Answer: B

NEW QUESTION 44
Which statement is true about upgrading the firmware on a Cisco MDS storage switch with dual supervisors?

A. Supervisors can be upgraded independently to test the new firmware.

B. The new firmware is loaded on the standby supervisor first.

C. Both supervisors load the new firmware and then the active supervisor reboots.
D. The standby supervisor must be offline before the firmware upgrade begins.

Answer: B

NEW QUESTION 49
In an FCoE environment, for which two sets of data must an interface that implements the PAUSE mechanism always provision sufficient ingress buffer? (Choose
two.)

A. frames that were sent with high credit

B. frames that were sent on the link but not yet received

C. frames that were processed and transmitted by the transmitter after the PAUSE frame left the sender
D. frames that were processed and transmitted by the transmitter before the PAUSE frame left the sender
E. frames that were sent on the link and received

Answer: BD
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NEW QUESTION 50

DRAG DROP

Drag and drop the characteristics from the left onto the correct storage systems on the right.
Select and Place:

NAS

expensive and complex to manage

moderately expensive and simple to configure

most resilient, highly scalable,
and high-performance storage

appliance prowling file system access

SAN

lacks scalability, performance,
and advanced features

A. Mastered
B. Not Mastered

Answer: A

Explanation:

NAS

expensive and complex to manage
lacks scalability, performance,
and advanced features

moderately expensive and simple to configure
moderately expensive and simple to configure

most resilient, highly scalable,

and high-performance storage
appliance prowling file system access

appliance prowling file system access

SAN

expensive and complex to manage

lacks scalability, performance,
and advanced features

most restlient, highly scalable,
and high-performance storage

NEW QUESTION 55
An engineer is implementing FCoE.
Which aspect of DCBXP on a Cisco Nexus switch affects this implementation?

A. It requires that LLDP transmit and LLDP receive are enabled on the FCoE interface.

B. It uses the Cisco Fabric Services protocol to exchange parameters between two peer links.
C. It provides the authentication of peers on the Cisco Nexus switch.

D. It always is enabled on 10/100-Mbps native Ethernet ports.

Answer: A

NEW QUESTION 59
Which product includes prebuilt templates that can be used to customize fabric deployments?

A. Cisco Tetration

B. Cisco Data Center Network Manager
C. Cisco ACI

D. Cisco UCS Manager

Answer: B

NEW QUESTION 61

Which statement about the MAC address that the FCoE Initialization Protocol chooses for use by an E-Node in an FCoE implementation is true?
A. The FCoE Initialization Protocol uses a 24-bit FC-MAP and concatenates a 24-bit Fibre Channel ID to create a fabric-provided MAC address.
B. The FCoE Initialization Protocol uses the burned-in MAC address of the converged network adapter for all FCoE operations.

C. FCoE does not use a MAC addres
D. The FCoE Initialization Protocol is used to acquire a Fibre Channel ID, and the address is used for all FCoE communications in the same way as Fibre Channel
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Protocol.
E. The FCoE Initialization Protocol uses 01.00.0C as the first 24 bits of the MAC address and appends a 24-bit Fibre Channel ID to derive a full 48- bit FCoE MAC
address.

Answer: AB

NEW QUESTION 65
Which statement about monitoring Fibre Channel traffic on a Cisco UCS 6332 Fabric Interconnect is true?

A. Fibre Channel traffic can be monitored only on one vHBA per server.

B. Fibre Channel traffic can be monitored as it is encapsulated as FCoE.

C. The monitoring of Fibre Channel traffic is limited to the default VSAN.

D. The destination port for monitoring must be an unassigned Fibre Channel port.

Answer: A

NEW QUESTION 69
An engineer is implementing NPV mode on a Cisco MDS 9000 Series Switch.
Which action must be taken?

A. NPIV must be enabled on the upstream switch.

B. The FCNS database must be disabled in the fabric.

C. A port channel must be configured to the upstream switch.
D. All switches in the fabric must be Cisco MDS switches.

Answer: A

NEW QUESTION 70
An engineer must ensure fabric redundancy when implementing NPV mode on a Cisco MDS 9000 Series Switch.
Which action enables fabric redundancy?

A. Use TE ports to connect to upstream switches.

B. Add a port channel to upstream switches.

C. Configure the NPV devices to use an external FLOGI database.
D. Connect the NPV devices to multiple upstream switches.

Answer: B

NEW QUESTION 73

Refer to the exhibit.

N5K-1 (config)#interface fc2/3

N5K-1 (config-if) #switchport mode sd
N5K-1 (config-if) # no shutdown

What is the result of implementing this configuration?

A. The Fibre Channel interface is configured for SPAN.

B. The Fibre Channel interface is configured for source distribution.

C. The Fibre Channel interlace is configured for FSPF.

D. The Fibre Channel interface is configured for synchronization distribution.

Answer: A

NEW QUESTION 74
A customer has a requirement for an automation solution that supports periodically acquiring configuration from a centralized server and aligning UCS servers to
their desired state. Which open-source tool meets this requirement?

A. SaltStack
B. Kubernetes
C. Puppet

D. Terraform

Answer: C

NEW QUESTION 76

What is required for using Ansible with HTTP/HTTPS protocol in a Cisco NX-OS environment?
A. XML management interface

B. SSH

C. Open Agent Container

D. NX-API

Answer: D
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NEW QUESTION 81
What is required for using Puppet in a Cisco NX-OS environment?

A. OpenNP

B. XML management interface
C. NX-API

D. Open Agent Container

Answer: D
NEW QUESTION 83

Refer to the exhibit.
Pyvthon Code:

IMpOYT Fequests
LMpOLET J80n0

url="http://lab-33180bdlf-awl/ina"'
awitchuser="dazfre'
awitchpasaword="ClacoroxD"

myheadera=["content-type' ‘'applicationS/j=cn")
payloads{
Rins api™: A
"veraion®™: "1.0%,
"type®: "cli show",
Pchunk™: "0,
iaid®: "1,
Finput™: "configure terminal : feature hsrp”,
"output_format®: "json®
]
|
reaponse = regueats poat (url,data=jaon.dumps(payload),
headers=myheaders, auth={awitchuser, awitchpassword) )

print (response. taxt)

ERROR MESSAGE
{

"ina api"” [

"type": "cli show"

"version™: "1.0%,

“aid" "eoc",

"outputa™, [

Moutput"™ [

"eclierror™ "% invalid commandin",
"{nput" "eonfigure terminal®™
"masg® "input CLI command erroc®,
"coda" 1l

"glierror™ "% invalid commandin",

"input" "feature harp",
"m=q” "input CLI command errcor™,
Toode™ maQom

i1

]

Why does the Python code for Cisco NX-API print an error message?

A. The JSON is not a supported format for the NX-API.

B. The "type" is wrong in the header of the request and should be "cli_conf"
C. NX-API does not allow configuration for features via the requests module.
D. The "type" is wrong in the body of the request and should be “cli_conf"

Answer: C

NEW QUESTION 86

Which two components should be checked when a Cisco Nexus 9000 Series Switch fails to boot using POAP? (Choose two.)

A. POAP feature license

B. DHCP server to bootstrap IP information

C. image noted in the script file against switch bootflash
D. script signed with security key

E. TFTP server that contains the configuration script

Answer: BE

NEW QUESTION 88
A POAP-enabled Cisco Nexus switch will not enter POAP mode.
Which two conditions should be verified? (Choose two.)

A. No startup configuration is available.
B. The switch is in bootup process.
C. The license file is missing on the switch.

D. Bootflash must contain a special directory named POAP with poap.py file.

E. No Cisco NX-OS image is present on the bootflash.

Answer: AB
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NEW QUESTION 89

An engineer enters these commands while in EEM on a Cisco Nexus 9000 Series Switch

event manager applet Backup-config event timer watchdog time 1800 name timer event cli match "copy running-config startup-config" What is the result of
applying this configuration?

A. It generates an error because no action is mentioned.

B. It executes the copy running-config startup-coring command.
C. It saves the running configuration every 1800 seconds.

D. It blocks the copy running-config startup-config command.

Answer: A

NEW QUESTION 93
Refer to the exhibit.

<?xml version="1l.0" encoding="UTF-8"7?><imdata totalCount="1"><error
code="403" text="Token was invalid (Error: Token timeout)"/></imdata>

An engineer configures a new application profile using REST API and receives this error message. Which method can be used before the application profile can
be configured?

A. GET to aaalListDomains
B. POST to aaaRefresh

C. POST to aaalogin

D. POST to aaalLogout

Answer: C

NEW QUESTION 98

An engineer is asked to manage a large-scale data center and collect information from multiple Cisco NX-OS devices using Cisco NX-OS Data Management
Engine model.

Which technology should be used to accomplish this goal?

A. NETCONF

B. NX Yang

C. NX-API REST
D. JSON-RPC

Answer: C

NEW QUESTION 100
Which feature must be enabled to support the use of JSON and XML encodings when a Cisco Nexus 7000 Series Switch is deployed?

A. Bash shell

B. NX-API

C. Open Agent Container
D. LLDP

Answer: B

NEW QUESTION 105
An engineer must configure RBAC in Cisco UCS Manager in an existing data center environment.
Which two roles can be used to configure LAN connectivity policies? (Choose two.)

A. server-profile
B. network-admin
C. operations

D. enable

E. admin

Answer: BE

NEW QUESTION 107
An engineer is enabling port security on a Cisco MDS 9000 Series Switch.
Which feature of enabling port security on a Cisco MDS 9000 Series Switch must be considered?

A. It can be distributed by using Cisco Fabric Services.

B. It authorizes only the configured SWWN to participate in the fabric.
C. It always learns about switches that are logging in.

D. It binds the fabric at the switch level.

Answer: A

NEW QUESTION 108
DRAG DROP
An engineer is implementing security on the Cisco MDS 9000 switch.
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Drag and drop the descriptions from the left onto the correct security features on the right.
Select and Place:

can be distributed via fabric services Fabnic Binding

Target 1

uses the Exchange Fabric Membership Data protocol
Target 2

allows a preconfigured set of Fibre Channel devices
to logically connect to SAN ports

Port Security

prevent unauthorized switches from joining the

fabric or disrupting current fabric operations Target 3

Target 4

A. Mastered
B. Not Mastered

Answer: A

Explanation:

_— ! : ; Fabric Bindin
can be distributed via fabric services g

uses the Exchange Fabric Membership Data protocol

uses the Exchange Fabric Membership Data protocol =
allows a preconfigured set of Fibre Channel] devices

to logically connect to SAN ports
allows a preconfigured set of Fibre Channel devices

to logically connect to SAN ports

Port Secunty

prevent unauthorized switches from joining the s o y
fabric or disrupting current fabric operations can be distributed via fabric services

prevent unauthorized switches from joining the
fabric or disrupting current fabric operations

NEW QUESTION 109
What is a feature of NFS?

A. zone-based access control

B. Kerberos-based security model
C. block-based file access

D. role-based access control

Answer: B

NEW QUESTION 111

A host in EPG Client wants to talk to a webserver in EPG Web. A contract with default settings is defined between EPG Client and EPG Web, which allows TCP
communication initiated by the client toward the webserver with TCP destination port 80.

Which statement is true?

A. If EPG Web is made a preferred group member, a contract between EPG Client and EPG Web is no longer required for the host in EPG Client to reach the
webserver in EPG Web.

B. If vzAny is configured to consume and provide a "deny all" contract, traffic between EPG Client and EPG Web is no longer allowed.

C. The host in EPG Client can connect to TCP destination port 80 on the webserver in EPG We

D. The webserver will not be able to initiate a separate TCP connection to a host port with TCP source port 80.

E. The host in EPG Client can connect to TCP destination port 80 on the webserver in EPG We

F. The webserver can initiate a separate TCP connection to a host port with TCP source port 80.

Answer: D

NEW QUESTION 112
An engineer is running an ACI fabric, has VMM integration with VMware vCenter, and wants to enable microsegmentation based on vCenter VM attributes. Which
statement about microsegmentation is true?

A. ACI does not support microsegmentation based on vCenter VM attribute

B. You should use network attributes for microsegmentation.

C. When enabled, microsegmentation performs distributed switching and routing on the ESXi hosts.

D. Microsegmentation is supported only using AVE or AVS.

E. An ACI microsegmented EPG automatically creates a port group with a private VLAN configured on a VMware vCenter distributed virtual switch.

Answer: D
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NEW QUESTION 115

DRAG DROP

Drag and drop the storage technologies from the left onto the correct descriptions on the right.
Select and Place:

NFSv2 uses client machine authentication
Kerberos uses users authentication
NFSv4 authenticates clients and servers in NFSv4
i RADIUS | authenticates clients to corporate

directory systems

A. Mastered
B. Not Mastered

Answer: A
Explanation:
NFSv2 NFSv2
Kerberos NFSv4
NFSv4 Kerberos
RADIUS RADIUS

NEW QUESTION 119
Which two authentication types does Cisco UCS Manager support when configuring authentication? (Choose two.)

A. PAM

B. local

C. 802.1X
D. Kerberos
E. LDAP

Answer: BE

NEW QUESTION 124
Refer to the exhibit.

NEXUS (config) # feature tacacs+

MEXUS (config) # tacacs-server timeout 5

MEXUS (config) # tacacs-server directed-request

HEXUS (config) # tacacs-server deadtime 0

MEXUS (config) # tacacs server host 10.1.50.20 port 49
NEXUS (config) # tacacs-server host 10.1.50.20 key 7 "Flwhgl23" timeout 1
NEXUS (config) # aaa group server tacacs+ ISE

NEXUS (config-tacacs+) # server 10.1.50.20

MEXUS (config-tacacs+) §# deadtime 10

NEXUS (config-tacacs+) # use-vrf management

NEXUS (config-tacacs+) § source-interface mgmt 0

NEXUS (config)# aaa authentication legin default group ISE

What is the result of implementing this configuration?

A. The switch queries the TACACS+ server by using an encrypted text PAP login.
B. The TACACS+ server uses the type-6 encrypted format.

C. The switch queries the TACACS+ server by using a clear text PAP login.

D. The timeout value on the TACACS+ server is 10 seconds.

Answer: D

NEW QUESTION 129
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